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Transverse energy flow for (Q?) = 10 — 20 GeV?

:\ T T ‘ T 1T ‘ T T ‘ T T ‘ T T ‘ T 1T ‘ T T \:
6; —+4— Data E
C ‘ —— Hw73.0LO®PS 7
> o —t+— Hw 7.3.0 LO © Dipoles]
C ‘ —+— Hw 73.0NLO®PS -
4 - Hw 7.3.0NLO@®PS
- —+— Hw 7.3.0 Merging .
3k —+— Hw 7.3.0 NLO & Dipole
oy - 7+ Hw730LO®PS -
2 e ——1 ]
I A . n
C -1+ - Hw 7 ]
0 ErHH -
1.4 == =
3 — "~ Hw 720 Mergg| =
1.2 == — T — Hw 7263NFGEH21poie
1.1 Ef== = b Hvk Bsy [
1E = e =
0.9 m===—i] i . - == 25
E_ 1 — — '
832 - -
8%; | | ‘ [ \l\ ‘ | \l\_\_l I T ‘ I ol | [ \E
-1 0 1 2 3 4 5 6
Ui

(72}



